CLASS 6 ENGLISH GRAMMAR 2020-2021
WORKSHEET ON ADJECTIVES

QI There are ten words given in the box and there are ten sentences.
Place these words in those sentences (one each). The words should
be used as adjectives.

heavy words several Neither every
live that tall fine long

1. There are boys in the field.

2. 1like a pen.

3. It’sa tree.

4. The ship sustained damage.

5. It is the book you gave me.

6. He is a man of few

7. This is a wire.

8. She has hair.

9. I have read book.

10. She is Mohini nor Sheela.

QII Supply the correct form of the Adjectives based on the given
options.

(a) Use ‘later’ or ‘latter’ in the following:

1. I prefer the .............. proposal to the former.
2. They passed the .............. proposal.

3. The .............. part of the book is interesting.
4. Is there no .............. news than yesterday’s.

(b) Use ‘older’ or ‘elder”.

l.Heismy .............. brother.
2. Ramis .............. than Krishna.
3. The nephew is .............. than his uncle.

4. Heis ..ccoennennns than any other person present here.



(c) Use ‘nearest’ or ‘next’.

1. This is the .............. shop to my house.

2. He sits ............. to me in the class.

3. What are you going to do .............. ?

4. The .............. school is five kilometers from this village.

Q III Supply the proper form (Comparative or Superlative) of the
adjectives given in the brackets.

1. Is your father .............. now? (well)

2. There is no animal .............. than the dog. (faithful)
3.Juneis .............. than April or May. (hot)

4. Her condition is now .............. than what it was ? (bad)
5. Sheis .............. than her sister. (pretty)

6. Sita is the .............. of the two. (tall)

Q IV Supply the correct form of the adjectives given in the brackets (Only
the Comparative or Superlative)

1. Heis the .............. man of our city. (rich)

2. Who is the .............. man of the 20th century ? (great)
3. Sheela is two years .............. than Radha. (old)

4. Name the .............. state of India. (large)

5. This patient needs a .............. diet. (nutritious)

6. He is the .............. friend I have. (good)

Q V Supply suitable adjectives to fill in the blanks.
l.Itwasan ................. question.

2. The ........coeees woman lives in a hut.

3. Thisisavery ................. matter.

4. Itisa cocveveininnnne. lie.

5. The injured man needs ................. advice.

6. You cannot have it ................. ways.

Q VI Read the statements given below and tick the correct option :

A. Identify the degree of comparison :
1. This is the tallest building

(i) Positive

(ii) Superlative

(iii) Comparative

(iv) None of the above



2. Her dress is as good as mine
(i) Positive

(ii) Superlative

(iii) Comparative

(iv) Both (i) and (iii)

3. His brother is taller than he is
(i) Positive

(ii) Superlative

(iii) Comparative

(iv) None of the above

B. Fill in the blanks :

4. The weather is ............. today
(i) finer

(ii) finest

(iii) fine

(iv) none of the above

5. This shop is the .............. to my house
(i) next

(ii) closer

(iii) nearest

(iv) near

C. Choose the correct option :

0.

(i) It is a lively tree

(ii) It is a tall tree

(iii) It is a studious tree
(iv) It is a standard tree

7.

(i) Intelligent men must die
(ii) Big men must die

(iii) All men must die

(iv) Short men must die



8.

(i) He has black wisdom
(i) He has no wisdom
(iii) He has good wisdom
(iv) He has small wisdom

9.

(i) The injured man needs much advice
(ii) The injured man needs few advice
(iii) The injured man needs least advices
(iv) The injured man needs many advice

10.

(i) I wish to wear stout pants
(ii) 1 wish to wear thin pants
(iii) I wish to wear sweet pants
(iv) I wish to wear loose pants



